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ANSWER ALL QUESTIONS
PART—A (10x2=20 marks})
1. What are the 3 fundamental propagation behaviors
depending on their frequency?
2. How can you utilize mobile antennas efficiently?

3. What are the general problems of satellite signals
travelling from a satellite to receiver?

4. What are the two'basic transport mechanisms used by
DAB? ;

5.  Mention some of the advantages and disadvantages of
WLANS.

6.  What is meant by roaming?

7. How the dynamic source routing does divide the task of
routing into two separate problems?
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Define a tunnel.

Name some features of WSP adapted to web browsing.

What are the configuration parameters to adapt TCP
wireless environments?
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PART-B (5%16=80 marks)

Define modulation and explain the methods
for analog modulation technique.

Or

@  Compare SDMA, FDMA, TDMA,
CDMA

t(ii) Explain the operation of Cellular

systems

(i) Discusé the importance of DECT
Protocol Layers

(i) Where and when can collisions occur
while accessing the GSM system?
Compare possible collisions caused by
data transmission in standard GSM,
HSCSD and GPRS.
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Or

Consider a mobile user who is
migrating from a place to another
place, provide him a seamless service
by satellite system, and also sketch the
architecture.

Compare FAMA and DAMA

Explain the architecture and features of
IEEE 802.11 in details.

@

@)

Or

The channel access control sub layer of
HIPERLAN. offers a connectionless
-~ data ftransfer service to the higher
MAC layer. Justify the above
statement with related references.

Write short notes on Bluetooth

List the, entities of mobile IP and describe
data transfer from a mobile node to a fixed
node and vice versa. Why and where is
encapsulation needed?
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How does dynamic source routing handle
routing? What is the motivation behind
dynamic source routing compared to other
routing algorithms from fixed networks?

Explain in detail about Indirect TCP and
Snooping TCP.

Or

What are the major difference between WAP
2.0 and WAP 1.x?'What influenced the WAP
2.0 development?
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